Graphing quadratics in polynomial form

Thursday, 22 February 2018 6:52 pm

Work to be completed by the end of the lesson:

Graphing ax® + bx + ¢ MM Ex. 3F  1ac 2ac 3bceg 4abefgh
RECAP:
We have been looking at the ideas behinuadratics. 2 -
We can do this in a number of ways: 1w = y=(x-2) 3
« Using the T-Method
) « Completing the square . \ 7 3
« Quadratic formula
Bj(xu)(x 2) =D 1y
— o
The reason for doing the algebrais to allow us the quadratic. Gaibx re sy =
7 Tobe able to sketch any graph, be it a quadratic, or cubic or even a straight line ... we need to ensure we always mark on the graphs the oo

following things: —_— )

When drawing graphs (at any point in Methods), you must always ensure to label the following:
.+ x-axis intercept(s) in co-ordinate form
.~ y-axis intercept(s) in co-ordinateform
& Turning points (maxima and minima)
g Endpoints (when the domain is limited)
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Equations of any asymptotes
At least one co-ordinate value

This is what you will be doing this lesson.

Sketching quadratics

” When you sketch something ..

You are NOT creati workof-art.
You are drawing erfecl drawing of a graph. IS

When you sketch a graph you always follow the same steps:

Find the y-axis intercept
Q( Find the x-axis intercept
Find the equation of the axis of symmetry

Find the co-ordinates of the turning point

The order above is NOT prescriptive.
2”You tend to change the order depending on how the question has been given to you.

In Turning Point Form you might find the turning point the easiest to find first, then the equation of the
axis of symmetry, then the intercepts.

Example:
Find the x- and y-axis intercepts and the turning point, and hence sketch the graphg;} x4 Zx Yeo

Inthis form s easy o see the y-axs ntercept is:—8 ¥ 7 Y= X+ 2865~ 8
Complete the square (to find the turning point): y= ( x4 ,{ |

Ia———
(=+eny =1~ &

= (x+1)- 9
e =(-4-9) I

—
_

Find the x-axis intercepts:

° oF xT+2x -8

(14—;\14710
G+n?= 2

x +1= @3

Sketching the graph you would have something looking like:

[x—2){x+4)
10 SN
—
\ |
| |
5 |
(- uo) (2,0)
. |
/0
fal)
5 0/ 0 J B
1 5
(v,-8)
-10
Don't be tricked!
H Remember, in Mathematics we can be given information in reverse!
You need to be able to apply the understanding in both ways. o Skas
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Don'tbe tricked!

I

Remember, in Mathematics we can be given information in reverse!
You need to be able to apply the understanding in both ways.

Example: A parabola has x-axis intercepts at 3 and 9. State th@oordinate of t

” ‘

3+

= E(1~33(\c f‘T): (o}

Example: A parabola has a vertex gt (2, -X0)/and one of the x-axis intercepts at 9. Find the other x-axis intercept.
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